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Cross out the beads on the abacus and subtract the numbers 
                  Th H T  U 

5 4 2 3    

      -  1 2 0 2 

 4 2 2 1 

 

Th H T  U 

6 3 4 5    

     - 2 1 3 5 

  

 

Subtract the numbers 

5 4 1 3    5 5 3 5  

     - 1 1 4 3        - 3 2 2 3 

 6 5 5 6 

 

Answer these 

a. Difference between 5568 and 4432 is -    1 1 3 6 

 

b. What is 5431 minus (subtract) 3200? - 
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Cross out the beads on the abacus and subtract the numbers 
                  Th H T  U 

6 4 3 5    

      -  4 4 3 3 

  

 

Th H T  U 

5 7 5 9    

     - 2 5 1 5 

  

 

Subtract the numbers 

9 8 7 6    9 7 8 5  

     - 5 4 3 2        - 5 5 8 0 

  

 

Answer these 

a. How much less is 8005 than 9999?     

 

b. What is 7162 minus (subtract) 2030?  
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Cross out the beads on the abacus and subtract the numbers 
                  Th H T  U 

8 4 4 4    

      -  7 4 3 2 

  

 

Th H T  U 

5 5 5 5    

     - 1 0 3 2 

  

 

Subtract the numbers 

7 6 7 6    8 2 1 9  

     - 2 5 3 4        - 5 1 1 7 

  

 

Answer these 

a. Difference between 7748 and 4337 is      

 

b. What is 6576 take away 6226?  
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Cross out the beads on the abacus and subtract the numbers 
                  Th H T  U 

5 6 5 6    

      -  3 2 4 2 

  

 

Th H T  U 

4 0 7 9    

     - 2 0 3 1 

  

 

Subtract the numbers 

1 5 6 8    8 9 8 7  

     - 1 3 4 4        - 6 4 8 6 

   

 

Answer these 

a. Difference between 6728 and 3517 is      

 

b. What is 8701 minus (subtract) 4000? - 
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Cross out the beads on the abacus and subtract the numbers 
                  Th H T  U 

2 6 5 2    

      -  1 4 4 1 

   

 

Th H T  U 

3 5 4 6    

     - 1 1 3 4 

  

 

Subtract the numbers 

9 7 8 4    8 5 6 7  

     - 4 1 2 4        - 4 2 3 6 

  

 

Answer these 

a. What is 7458 minus 5341?     

 

b. What is 6792 takeaway 4182? - 
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Cross out the beads on the abacus and subtract the numbers 
                  Th H T  U 

7 8 6 4    

      -  6 6 4 0 

  

 

Th H T  U 

4 8 6 3    

     - 3 2 2 3 

  

 

Subtract the numbers 

7 3 1 6    8 4 4 8  

     - 1 1 4 3        - 4 1 1 4 

  

 

Answer these 

a. Difference between 7874 and 1202 is      

 

b. What is 3957 minus (subtract) 1234? - 
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Cross out the beads on the abacus and subtract the numbers 
                  Th H T  U 

8 7 6 6    

      -  6 4 1 4 

  

 

Th H T  U 

3 5 5 6    

     - 1 3 1 5 

  

 

Subtract the numbers 

4 7 8 6    5 9 2 8  

     - 2 3 1 5        - 3 3 0 3 

   

 

Answer these 

a. How much less is 1785 than 3986?     

 

b. What is 4466 minus (subtract) 3214? - 
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Cross out the beads on the abacus and subtract the numbers 
                  Th H T  U 

2 7 6 5    

      -  1 4 3 1 

  

 

Th H T  U 

7 5 3 7    

     - 4 3 1 4 

  

 

Subtract the numbers 

7 4 2 8    4 9 1 7  

     - 2 1 2 4        - 2 8 0 3 

  

 

Answer these 

a. Difference between 7529 and 3205 is -     

 

b. What is 8138 take away 5031?  
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Cross out the beads on the abacus and subtract the numbers 
                  Th H T  U 

4 4 6 6    

      -  2 4 4 2 

  

 

Th H T  U 

5 4 2 7    

     - 2 1 0 3 

  

 

Subtract the numbers 

8 9 4 7    6 7 2 8  

     - 3 1 2 4        - 2 5 1 6 

  

 

Answer these 

a. Difference between 5276 and 2144 is -     

 

b. What is 3143 minus (subtract) 3000? - 
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Cross out the beads on the abacus and subtract the numbers 
                  Th H T  U 

5 6 1 2    

      -  2 3 1 0 

  

 

Th H T  U 

5 4 3 6    

     - 3 2 3 5 

  

 

Subtract the numbers 

6 2 8 4    5 9 3 8  

     - 2 2 2 2        - 3 3 3 3 

  

 

Answer these 

a. Difference between 7927 and 3413 is -     

 

b. What is 7195 minus (subtract) 3080? - 


